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GENERAL AWARENESS, GENERAL ENGLISH, ELEMENTARY
MATHEMATICS AND FUNDAMENTAL KNOWLEDGE OF COMPUTER

Q.1. Which is the national tree of India

{1} Neem (2) Peepal {3) Khajoor (4) Banyan {Bargad) (5) Mango
Q2 Which service providers are exempted from payment of Service Tax 7

(1) Advertising {2) Air Travel Agent {3) Airport Services

(4) Negative List (5) Architect
Q3 Which one of the following is not a union Territory 7

(1) Andaman And Nicobar Islands (2) Chandigarh (3) Goa

(4) Daman and Diu {5) Dadra and Nagar Haveli
Q.4 The area of which state is not a part of the National Capital Region (NCR) 7

(1) Haryana (2) Uttarakhand {3) Uttar Pradesh (4) Rajasthan (5) Punjab
Q.5. What is excluded from the list of fines if address given in Tatkal Form for booking seat in a train is l

found to be false 7

(1) Deboarding at the next station

(2) Imprisanment as per provisions of Railway Act
(3) Imposition of fine

(4) Set of Warning

{5) Punishment under Criminal Procedure Code

Q.6. What is the total number of states and Union Temitories in India 7
(1) 28 {2) 37 {3) 35 (4) 38 (5) 39

Q.7. Who is the supreme commander of the nation's armed forces 7
(1) Prime Minister of India {2) The President of India
(3) Chief of Army Staff (4) Chief of Naval Staff
(5) Defence Minister of India

Q.8. Who is the civil aviation minister in the council of ministers 7
(1) Mukul Roy (2) Shriprakash Jaiswal (3) Anand Sharma
(4) M. K. Alagiri (5) Ajit Singh

Q9. Which is the most populous democracy in the World ?
(1) China (2) Pakistan {3) United Kingdom
(4) India (5) United States of America

Q.10. Who wrote the book titled “Off the Track” ?
(1) Dr. Manmohan Singh (2) Sonia Gandhi (3) Pranab Mukherjee
(4) D. B. Subbarag (5) Atal Bihari Vajpai

Q.11. What is the full form of term “FII* which is much talked about in the Financial World these days ?
(1) Financing Indian Investmeni (2) Financing Indian Investors
(3) Financing Indian Institutions (4) Financing Institutional Investors
(5) Foreign Institutional Investors

Q.12 How many kilometers is India's coastline long ?
(1) 7517 (2) 9517 (3) 10817 (4) 11517 (5) 12517

Q.13. What is the role of EMMC department of Information and Broadcasting ministry 7
(1) To check the violations of the Cable Television Networks Regulations
{2) Ta check the violation of Advertising in News Papers/Magazines
(3} To check the violation of Constitutional Rights
(4) To check the violation of Right of expression by Display Media
(5) To check the violation of Information Technology Act

333 R 121733 c 3 c




H.14.

H.15,

H.1e.

H.18.

H.18,

.20,

u.21.

.22,

.23,

.24,

¥.25,

U.26.

n.27.

H.28.

b.29,

H.30.

333

AR F Wy g P # g 2

(1) wurefta Y= (2) swdin e o (3) fogwam gfafer
(4) vty we ds (5) s T8

Reenfeat & el & fom @t o1 greaw 2 2

(1) wroftg e @ ¥e7 qREER (2) s g (3) =¥ 92 R
(&) somad grepn (5) wewm wfld fiE qwear

TR AT YRR @ Jef e e & S e § 2

(1) eh (2) T v (3) dwrr (4) Jwemr (s5) =miR

TR+ Ao e Wi & SETea a8l 6w [ WO e s o g S 7

(1) sfewm et (2) weflmygdt (3) ofleaom (4) ARt wsf (5) o . ===
f e @ Ty T Sa A R P

(1) A (2) st (3) a=g (4) wIER (5) wmemae

frg Frre = sroreen & aiteifie Rarg & goive & e frg 2 ?
(1) wrowen oo siteifie fem sk R fmm (2) wrowerm fim fam

(3) W &g Fmm A (&) wroreers oa WEEN Ao w .
(5) forom e &g

Fagay 2012 ¥ R ufg Afa /s v e i A a2 2

(1) ek (2) @t (3) =werft (4) g R (5)

fr=fafie # & o=+t e wftmfer BCC| g1 amaifor wer 29t sitaifier =i & 2

(1) ot gt (2) Refwadt  (3) dfgwgdt  (4) et (5) NKP Tee =oor gt
swIf3eg @t ggmET 37 & o theves A Yo e e e e A sty meeft @

A FEE ?

(1) FORHEX#&m (2) STONEMART (3) JAS (4) VASTRA (5) faom oomeer

st & e smame ww e 2012 & R ey S s o et Gt g ?

(1) &6 %9 & W (2) fefes i = wam (3) fHefes wma &
(4) fEamea daedt aaa (5) USD 9w &

- - e s g amd g ?

(1) TR (2) @R (3) wweg (4) wftam () aremy
frrg i oo & e e 9 € 2

(1) % (2) T (3) =mite (4) TR (5) wreft
1 81§ i waene & egea e ey mar & 7

(1) sfem (2) M omw (3) o (4) fmftram (5) womgeme
NCR 10 412 F o= & e 8w o say arder fee 83 affufe fm & 2

(1) =rer (2) s (3) smEgw (4) fremars (5) =g
e & B aew @ g v i o dT e # 2

(1) P (2) #emR (3) emga (4) P () *=amR
fret =m T e arfFrand fien &g ae @ sfiar gefim s & ?

(1) 2124 (2) 15 ¢ (3) 14ad (4) 107 (s) 6ad

AfFes # At @i g ?
(1) Tg=va (2) "o Eer  (3) Rea s (4) SLd.aet (5) o & a9

R 121733 C 4 C




Q.14.

Ql151

Q.16.

Q.17.

Q.18,

Q.19.

Q.20.

Q.21.

Q.22

Q.23.

Q.24.

Q.25.

Q.26.

Q.27.

Q.28.

Q.29.

Q.30.

333

Which is the largest employer in India ?
(1) Indian Railways {2) Indian Armed Forces {3) Hindustan Unilever
(4) State bank of India (5) Reliance Group

Which of the following awards is meant for coaches of the sportsmen 7
{1} Rajiv Gandhi Khel Ratna Award {2} Arjuna Award

{(3) Dhyan Chand Award (4) Dronacharya Award
{5} Maharaja Ranjeet Singh Award

Which District of Rajasthan is the origin of The community known as Manganiyar 7
(1) Pali {2) Barmer (3) Bikaner {4) Jaisalmer (5) Nagaur

Which Indian Politician has been honoured by Bangla Desh afier Forty-one years it won
independence 7

{1} Indira Gandhi {2) Sanjeeva Reddy (3) Jagjeevan Ram

{(4) Nandini Satpathy (5) Y. B. Chavan

Which city is assaciated with Shekhawati Festival 7

{1) Nagaur {2) Pali (3) Mavalgarh (4) Fatehpur (5) Jhalawar

Which Corporation has played a catalytic role in the industrial development of Rajasthan 7
(1) Rajasthan State Industrial Development and Investment Corporation Lid,

(2) Rajasthan Finance Corporation

(3) Rajasthan Small Industries Corporation Ltd.

{4) Rajasthan State Co-Operative Marketing Federation Lid,

{5) District Industries Centers

What is the name of the film directed by a well known Preducer/Director who passed away in Oct
20127

(1) Sangharsh (2) Bobby (3) Kahani (4) English Vinglish (5) Dhoom
Which of the following cricket competitions is not a Domestic Competition organized by BCCI 7
{1) Ranji Trophy (2) Duleep Trophy (3) Champions Trophy

(4) Irani Trophy (5) NKP Salve Challenger Trophy

What is the name of the exhibition organized by Federation of Rajasthan Handicraft Exporiers every
year in Jaipur for promoting Handicrafts 7
(1) FORHEX fair (2) STONEMART (3) JAS (4) VASTRA (5} Vision Rajasthan

What is the ground on which United States has blacklisted Indian Imports of Carpets for the
year 2012 7

{1) Using Child Labour {2) Using synthetic colours (3) Using Synthetic Fibre
(4) Design lssues (5) USD is weak

In which city of Rajasthan, ADHAI - DIN KA- JHONPRA is situated 7

(1) Ganganagar (2) Alwar {3} Bharatpur {4) Sikar (5) Aimer

In which District of Rajasthan Kiradu Temples are situated 7

(1) Bundi (2) Churu (3) Nagaur (4) Barmer (5) Pali

The license of which Airline has been suspended recently 7

(1) Indige (2) Goair (3) Jet (4) Kingfisher (5) Spicejet
Which city of Rajasthan has been identified by The NCR Planning Board as counter magnet area 7
(1) Kota (2) Alwar {3) Shahpura (4) Bhilwara (5) Bharatpur
Which city of Rajasthan shares some of its area as a part of National Capital Region 7

(1) Kota (2) Alwar {3) Shahpura (4} Bhilwara (5} Bharatpur
Up-to which age is the right of a child to free and compulsory education protected 7

(1) 21 years (2) 15 years (3) 14 years (4) 10 years (5) 6 years
Who is the Railway Minister in the Cabinet 7

(1) Mukul Roy (2) Mallikarjun Kharge (3) Dinesh Trivedi

{4) C. P. Joshi (5) G K. Vasan
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Q.31-40. Read the following passage carefully and answer the question. Certain words are printed in bold to help

Q.31.

Q.32.

333

you locate them while answering some of the questions :

The wife of the headman of a village died soon after giving birth to a baby boy. The headman was
inconsolable but was persuaded by his family and friends to marry again so that the child would have
someone to look after him. Fortunately, his second wife turned out to be a kind hearted and sensible
woman who gave the child all the love and care he would have received from his own maother. After a few
years she gave birth to two more sons, but her affection for the eldest never diminished. She treated all
three boys alike and the two younger anes never realised that they had a stepbrother.

When the headman passed away, the widow entrusted all the responsibilities of household and
fields to the eldesl son. He managed the responsibilities so well that the family prospered. This made the
neighbours envious. One day, the neighbours told the widow's sons the truth about their eldest brother
and advised them to drive him away lest he should deprive them of their share of the property. The
younger brothers were shocked at the revelation and were frightened by the prospect of losing their
share of the property. They decided to murder their eldest brother to get rid of the problem. When they
told their mother about what they planned to do she said to them, "Don't bloody your hands, | will get rid
of him for you.”

That night, when everybody was asleep, she suddenly jumped out of the bed and staried shouling,
“Snake! Snake!" “Where 7 Where did you see it mother 7" asked the eldest son, getting up from his mat.
“Alas,” said the widow, "l saw it disappearing in your stomach.”

The eldest son turned pale. From that day onwards he lost all appetite for food and would lie on
his mat whole day long. Soon he became so weak that he could not even sit up on his mat. The neighbours
rejoiced and took advantage of the situation. They built a wall across the widow’s courtyard and claimed
a part of the house as their own. In the fields they shifted their boundaries to enclose large portions of the
widow’s lands. The younger sons’ could not deal with the situation and one day they said to their mother,
“If our elder brother was not bed-ridden such terrible things would not have happened to us.”

The widow kept quiet then but in the dead of the night she started shouting, “Snake! Snake!”
Everyone woke up. "Where ? Where did you see it mother 7" asked the eldest son weakly, “Son, | saw
it coming out of your stomach,” replied the widow, "It disappeared in the darkness." From that day the
condition of the eldest son started improving. Soon he was able to walk up to the courtyard where he saw
a new wall. "Who has built this 7" He thundered. The neighbours came running and meekly pulled it
down. The following week he went to the family fields and seeing the new boundaries shouted, "Who has
done this 7" The neighbours trembled with fear and quickly vacated the land they had grabbed. Since
then the widow and her three sons lived in peace and harmony.

Why were the neighbours envious 7

(1) The eldest son managed his responsibilities so well that the family prospered
(2} The younger sons had more money than the neighbours

(3) The younger sons prospered without any merit

(4) The eldest son had more fields than the neighbours

{5) The eldest son used the neighbours' strategy and prospered more than them

Why did the village headman agree fo remarry 7

{1) He felt very lonely

(2) His son felt very lonely and longed for a mather

(3) He was persuaded by his family and friends to marry again
(4) He knew that his wife would have wanted him to remarry
(5) He wanted more children
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Which of the following is an appropriate title for the passage ?
{1) The Envious Stepmothear

(2) The Headman and His Wife

{(3) The Forgotten Snake

(4) The Widow and Her Three Sons

{5) The Neighbours and Their Tyranny

When did the younger brothers realise the importance of their eldest brother ?
(1) When their eldest brother could not recover from his illness

{2) When their mother lost faith in them

(3) When their eldest brother decided to move out of the house

(4) When their mother was upset about her eldest son's ill health

(5) When they were unable to handle household responsibilities

How did the condition of the eldest brother improve ?

(1) He was provided medical assistance

{2) The neighbours' tyranny gave him the will to improve
(3) His mother looked after him dearly until he improved

(4) He believed that the snake had gone out of his stomach
(5) The snake had actually gone out of his stomach

How did the widow solve the younger sons’ problem ?

(1) By making the eldest son believe that there was a snake in his stomach

(2) By killing the aldest son

{3) By throwing the eldest son out of the house

(4) By giving the responsibilities of the househald and the fields to her Yyounger sons
{3) By asking her younger sons to bloody their hands and kill her eldest son

What was the neighbour’s advice to the stepbrothers’ ?

(1) Kill the eldest brother to gain his share of the property

{2) Make the eldest brother fall ill

(3) Confront the eldest brother about his real mother

(4) Drive away the eldest brother or else he would deprive them of their share in the property
(5) Ask their mother to get rid of her step son by depriving him his share in the property

Choose the word which is most nearly the SAME in meaning as the word printed in bold as used in
the passage.

deprive ¢ (1) force (2) seize (3) bestow {(4) cormpel (5) deny
entrusted : (1) confided (2) enrolled {3) allowed (4) gave (5) charged
revelation : (1) insistence  (2) disclosure (3) secrecy (4) inspiration  (5) affirmation

Read each sentence to find out whether there is any grammatical error in it. The error, if any. will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is (5) i.e.
‘No error’. (Ignore errors of punctuations, if any).

Amrita was happy / because her father / promise to gift a /

(1) (2) (3)
wooden rocking pony on her birthday. Mo error
(4) (5)
Some writers have define / introverts as people whose / energy expands through reflection /
(1) (2) (3)
and reduces through interaction. No error
(4) (5)
Tiger has a muscular / body with particularly / powerful forelimbs and / a large head. No error
(1) (2) (3) (4) (5)
R 121733 c 7 Cc
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Psychology is a / discipline that involves / an scientific study of / mind and behaviour. Mo error
(1) (2) (3) (4) (5)

With the exception / of one decades, population / in India has continued to grow /

(1) (2) (3)
at an alarming pace. No error

(4) (5)

Each sentence below has a blank; each blank indicates that something has been omitted. Choose the
word that best fits the meaning of the sentence as a whole.

Reshmawas ________ because no one turned up for her birthday and she was left all alone.

(1) happy (2) apologetic (3) delighted (4) sorry (5) upset

Today teenagers face a lot of peer pressure asa______ of which they end up indulging in criminal
activities.

{1) impact (2} kind (3) result (4) possibility (5) reason

Prices of all goods and services have increased _______ more than the estimated price as per the
inflation rate.

{1) many (2) very {3) although {4) much (5) heavily
Rohan was undergoing treatment for anaemia in childhoodand then is afraid of doctors.
(1) by (2) so (3) now (4) before (5) since
Shaurya is a five year old kid who is very creative ______ intelligent for his age.

{1) but (2) along (3) and (4) with {5) not

In each question below, four words printed in bold type are given. These are numbered ( 1), (2), (3) and
(4). One of these words printed in bold might either be wrongly spelt or inappropriate in the context of
the sentence. Find out the word that is inappropriate or wrongly spelt, if any, The number of the word is
your answer. If the words printed in bold are correctly spelt and appropriate in the context of the sentence
then mark (5) i.e, ‘All Correct’ as your answer.

Children today have low immunity and are week due to lack of nutrition and poor

(1) (2) (3)

eating habits. All correct
(4) (5)
Shankar was a rich merchent and would donate a large sum to charity every year. All correct
(1) (2) (3) (4) (5)
Drinking Is one of those things that starts innocently but devastates a person
, (1) (2) (3)
completely. All correct

(4) (5)

There are so many insuranse plans and policies in the market today that people

(1) (2) (3)
are confused. All correct
(4) (9)

Pooja was a shy girl who sat on the last bench and due to her plane looks she
(1) (2) (3)
was never noticed. All correct

(4) (5)
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Q.56-60. Rearrange the following six sentences / group of sentences (A), (B), (C), (D), (E) and (F) in the proper
sequence to form a meaningful paragraph; then answer the questions given below them.

(A) Gopal, the Jester, immediately disagreed. He said that businessmen were cleverer and offered
to prove it

(B) The scholar, overjoyed, asked for 20 gold coins and when he was paid the amount, allowed the
barber tc shave his upper lip clean.

(C) Afew days later Gopal called a scholar to the palace and told him that the king wanted his
maustache and asked him to name his price.

(D) Gopal gave him the money but when the barber approached him, the businessman pushed him
away saying, "The moustache now belongs to the king! | won't let anyone touch it!" And with that
he turned around and walked out of the palace.

(E} King Krishna Chandra once expressed the opinion that scholars were the cleverest men in his
kingdom.

(F) Next, a businessman was sent for and when told that the king wanted his moustache he

- claimed 20,000 gold coins for it

Q.56. Which of the following should be the FIRST sentence after the rearrangement ?

(1) A (2) B (3) C (4) D (5) E
Q.57. Which of the following should be the FIFTH sentence after the rearrangement 7

(1) A (2) B (3) C (4) E (5) F
Q.58. Which of the following should be the FOURTH sentence after the rearrangement ?

(1) A ) B (3) C (4) D (5) E
Q.59. Which of the following should be the SECOND sentence after the rearrangement ?

(1) A (2) D (3) C (4) B (5) E
Q.60. Which of the following should be the SIXTH (LAST) sentence after the rearrangement ?

(1) A (2) B (3) D (4) E (5) F
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(1) 833 (2) 818 {(3) 845
2
450 % 28% T 3" ?
(1) B4 (2) 88 (3) 86
(3000 +231)+9=7+122
(1) 359 (2) 238 (3) 357
1_ 3
444 % Z#g=?
(1) 133.2 (2) 132.3 (3) 133.8
23.45+451.29 +1222.98 =7 + 788.75
(1) 909.37 (2) 908.97 (3) 901.57
(83 x4)+ (17 x12)=7
(1) 563 (2) 535 (3) 546
2 E +3 E +5 -1 =7
5 3 g
= 2 3) 11 -
(1) 11 3 @) 133 () 13
4555425 % 7=2186.4
(1) 13 (2) 15 (3) 12.8

3455+ 1212 + 3884 =5212+7

(1) 3393 (2) 3333 (3) 3339
(30 % 19) & 40% @1 % =9

(1) 136.8 (2) 1339 (3) 141.8
552 H135% +47.8=7

(1) 245 (2) 243 (3) 241
V72167 + 168 = ()

(1) 36 (2) 6 (3) 8

(4 x 4F x (16 x 4)' + 1024 = (4

(1) 5 (2) 8 (3) 7
554 + B4 +12+ 30=7

(1) 515 (2) 585 (3) 556
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Q.61-80. What will come in place of the question mark (?) in the following questions ?
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Bx51+6+(8)'=7

(1) 833 (2) 818 (3) 845

2

Erd of 2B% of 450 = 7

(1) B4 (2) 88 (3) B8

(3000 + 231)+9=7+ 122

(1) 359 (2) 238 (3) 357
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5 thof = ofd44 =7

(1) 133.2 (2) 132.3 (3) 1338

23.45+451.29+ 122298 = 7+ 78BB.75

(1) 909.37 (2) 908.97 (3) 901.57

(83 x4)+ (17 % 12)=7

(1) 563 (2) 535 (3) 546
3 2 1

2% +3 3 *o93 =7

(1 ng (2) 13 3 (3) 11 3

4555 4+25x 7 =2186.4

(1) 13 (2} 15 (3) 12.8

3455 + 1212 + 3884 =5212+ 7

(1) 3393 (2) 3333 (3) 3339

3

5 th of 40% of (30 x 19) =7

(1) 136.8 (2) 133.9 (3) 1418

35% of 552 +47.8=7

(1) 245 * (2) 243 (3) 241

Y2167 + J1e9 =(7F

(1) 36 (2) 6 (3) 8

(4 x 4) x (16 x 4] + 1024 = (4)’

(1) 5 (2) 8 (3) 7
554 +B84+4+12+30=7
(1) 515 (2) 595 (3) 556
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(5) Other than those given as options

{(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

(5) Other than those given as options

{S) Other than those given as options

{5) Other than those given as options

(4) (36 (5) V6

(5) Other than those given as options

(5) Other than those given as options



w.TS. Jiaaa - 4529 =7

(1) 14 (2) 15 (3) 18 (4) 13 (5) T mu fEpet =1 vreas 3
W.76. 138956 + 129985 — 102278 = 7

(1) 1666865 (2) 166636  (3) 166366 (4) 166663 (5) fouww Roel ) oigaw g
R77.  J60+60-12+13 =7

(1) 13 2) 1 (3) 12 (4) 14 (5) Ru m et 1 vigan F

119 12 8
w.78. ﬁ:ﬁxE:?T ) ?

) 1 (@ 73 B) 15 (4) 5 (5) Ry Rt 1 BigwR 37
w.79. 800 H1 12% + 60 T 105% = 7

(1) 153 (2) 155 (3) 159 (4) 157 (5) few T Reea! @t vigax 37
w.80. (18 + 32) - (345 - 338P = 7

(1) 2 (2) 5 (3) 3 4) 7 (5) fam o el @ BieaR 3
H.81. 300 & quf &7 &= & fore Swd @t wgee e W @ w7

(1) 21 (2) 22 (3) 36 (4) 24 (5) faw my foeeat @1 Brgw 3=

w.82. 4 9 3R ¢ iy &t Peae Fima T 58/- % | 10 99 3w 15 dfae & e Fma 7 &l 7
(1) T140/- (2) T145/- (3) T135- (4) fuffa = fsar s wamen (5) R Rwed] @1 wigaw o

W.83. % 5,500/- FT ¥y ov 3 ad F e 12 WA, B w3 e e s B ?
(1) T1900/-  (2) 1988/  (3) T1980/-  (4) T1980/-  (5) uw Ryl & gream o
w.84. Qﬁ@ﬁﬂﬁ@iﬁﬁﬂﬁﬁ%?l 7o 364 Bl mmavm g | es Rt Mg auaa
ey o fee |2 e ?
(1) 5 (2) 3 & (3) 72 (4) 6HE (5) v AT # veaR
w85,  Uh S Rt 6 e M & e o o e & 1 15 R 3 Rt o a1 ww @ 2
(1) 48 fEm  (2) 90 fam (3) 95 fam (4) 43 fmm (5) Rxm fiweat 71 BeaR 3

W.86. v st 3 8 fob wraer 2 28/- URY e it sv @ v 5 R A T 181 O e ST R =Y | g
it o wd g 82
(1) T316/- (2) T3181- (3) T314/- (4) T 320/ (5) fan v fwed & BleTR &

W.87. (59) % ¥ (15)" geF Ux oY 41 8 7

(1) 111 " (2) 108 (3) 106 (4) 104 (5) v firmedt o sleTR 3=
W.88. aﬁmﬁmﬁmmﬁmﬁmﬁamm%h Remer &t wift amg T 26,0000- & | e & arftfe

HTFE?

(1) ¥2,34,000/- (2) ¥2,33,000/- (3) T2.35,000/-

(4) ¥ 2,34,500/- (5) v et 3 Blem a7

7.89. el & Frefafe e & dla &1 9o FEn |
45, 37, 12, 62, 70, 26

(1) 44 (2) 45 (3) 38 (4) 43 (5) fan T fiwsyt &1 Breaw I
¥.90. wee Uy weEat S A 175 § | wEG aet 3R weY vl wem e A e ?
(1) 73 (2) 72 (3) 70 (4) 69 (5) o o el 7 Breaw I
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J1aaa - 529 = ?

(1) 14 (2) 15 (3) 18 (4) 13 (5) Other than those given as oplions

138956 + 129985 - 102278 =7
(1) 166665 (2) 166636 (3) 166366 (4) 166663  (5) Other than those given as options

VB0 + 60 — 12 +13 =7

(1) 13 (2} 1 {3) 12 {4) 14 (5) Other than those given as options
128 Ry TR

7 7 11 7 :
(1) T (2) IE] (3) 7z (4) T {5) Other than those given as options
12% of BOO +105% of 60=7
(1) 183 (2) 165 (3) 159 (4) 157 {5) Other than those given as options
(18 + 32) — (345 - 338)* = ?
(1) 2 ) 5 (3) 3 (4) 7 (5) Other than those given as options
What is the least number that can be added to 300 to make it a perfect square ?
(1) 21 (2) 22 (3) 36 (4) 24 (5) Other than those given as options

The cost of 4 pens and 6 pencils together is ¥ 58/-What would be the cost of 10 pens and 15 pencils
together 7

(1) T 140/- (2) T 145/- (3) T 135/-

(4) Cannot be determined (5) Other than those given as options

What would be the simple interest abtained on an amount of T 5,500/- at the rate of 12 p.c.p.a after 3
years 7
(1) T1900/-  (2) ¥ 1988/- (3) T 1990/~ (4) T 1980/- (5) Other than those given as options

1
The speed of a scooter is Eth the speed of a truck. The truck covers 364 kms in 7 hours. How many

hours will the scooter take to cover a distance of 65 kms, 7
(1) 5 hours {2) 3 hours (3) 7 hours (4) 6 hours  (5) Other than those given as options

A canteen uses 6 kgs of wheat flour in two days. How much will they use in 15 days ?
(1) 48 kgs {2) 90 kgs (3) 95 kgs {4) 43 kgs {5) Other than those given as options

A man bought 8 kgs of rice at the rate of T 28/- per kg and 5 kgs of sugar at the rate of T 18/- per kg.
What was the total amount he spent ?
(1) T 316/~ (2) T 318/~ (3) T 314/- (4) T 320/- (5) Other than those given as options

If (15)° is subtracted from (59). What will be the remainder 7
{1) 111 (2) 108 (3) 106 (4) 104 (5) Other than those given as options

3
Anita’s monthly income is Eth of Vishal's monthly income. Vishal's monthly income is  26,000/-.

What is Anita's yearly income 7
(1) ¥2,34,000/- (2) T2,33,000/- (3) ¥2,35,000/-
(4) T2,34,500/- {5) Other than those given as options

Find the average of the following set of scores
48, 37, 12, 62, 70, 26
(1) 44 {2) 45 {3) 38 (4) 43 (5) Other than those given as options

The sum of five consecutive numbers is 175. What is the sum of the largest number and the smallest
number ?
(1) 73 {(2) 72 (3) 70 (4) 69 (5) Other than those given as options
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Under editing mede, an the tool bar, clicking B after selecting the word/text, converts the entire
selection into ——

(1) Italics (2) Underlined (3) Italics and Underlined {4) Coloured (5) Bold
The webpage or local file that is automatically loaded at the start is called ——

(1) Home Page {2) Browser page (3) Search Page

{4) Bookmark {5) Start Page

E-mail addresses separate the user name from the ISP usingthe ________ symbal

(1) & (2) (3) % (4) * (5) #

How many different documents can you have opened at any one time?
{1) Mo more that thres

{2) Only one

(3) as per the limitations of the operating system

{4) No more than your Taskbar can display

(5) Other than those given as oplions

Various applications and documents are represented on the Windows desktap by
(1) Symbols (2) Labels {(3) Graphs (4) lcons (5) Other than those given as options

A directory within a directory is called

(1) Mini Directory (2) Junior Directory (3) Part Directory

(4) Special Directory (5) Sub Directory

The blinking point which shows your position on the monitor is called ——

(1) Blinker (2) Cursor (3) Causer

{4) Pointer (5) Other than those given as options

The ______ tells the computer how to use its components

(1) utility (2) network (3) application program
(4) operating system (5) Other than those given as options

A system that allows simple and efficient interaction between the user and the operating system is
called —

(1) userinterface (2) language franslator {3) platform

(4) screen saver (5) icon

On MS Windows Operating System you can keep your personal filesffolders in

(1) My folder (2) Network Connections {3) My Files

(4) My Text (5) My Documents

A system which is operationally convenient to the user is called —

{1) user friendly {2) information {3) word processing
(4) icon (5) Other than those given as options

Which one of the following software applications would be the most appropriate for performing
numerical and statistical calculations 7

(1) Database (2) Document processor (3) Graphics package
(4) Presentation (5) Spreadsheet
Onthe _—_______ of a software, lists of executable commands and options are displayed.

(1) menu bar (2) tool bar (3} title bar (4} formula bar (5) Other than those given as options

In order to save an existing document with a different name you need to ——

(1) Retype the document and give it a different name

{2} Use the Save as command

(3) Copy and paste the original document to a new document and then save

(4) Use Windows Explorer to copy the document to a different location and then rename it
(8) Cther than those given as options
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A system/disk content that cannot be changed or erased by the user is called —

(1) memory-anly (2) write-only memory (3) buy-ready memory
{4) run-only memaory (5) read-only memaory

Working together in cooperation on a document with other excel users is called

{1) sharing {(2) merging (3) collaborating

{4) routing (5) Other than those given as options

Softwares which make the operating system compatible with peripheral devices, such as monitors,
printers, and scanners are called
(1) drivers (2) utilities (3) interfaces {(4) managers (5) activators

A program currently operational and allowing the user to continue other tasks is said to be running in
the

(1) user session (2) kernel (3) background (4) foreground (5) backstage

The ________ button on the Quick Access Toolbar allows you to cancel your last command but
retaining the previous status of the file.

(1) Search (2) Cut (3) Document (4) Undo  (5) Other than those given as options
A system that connecis two devices without the use of cables is called

(1) distributed system (2} wireless system (3) centralized system

{4) open source system {5) scattered system

Each small rectangle in a spreadsheet representing intersection point of a column and row is
calleda ——

{1) tab {2) cell {3) box {4) range {5) Other than those given as options
To enter a page number in a header, click the _______ button on the Insert tab.

(1) Display Number (2) Add Page Number

{3} Header Numbering (4) Insert Page Number

(5) Other than those given as options

If you type a word that does not match WORD's dictionary, a —___ wavy underline appears below
the word.

{1) red colour {2) green colour (3) blue colour

(4) black colour {5) Other than those given as options

A Computer Program which is capable of restricting functionality of your computer system is called —
(1) disease (2) torpedo {3) hurricane

(4) virus (5) Other than those given as options

A(n) —__ allows sharing of a broadband Internet connection.

(1) hub (2) adapter (3) router (4) switch {5) plug

A word document can be saved by giving ita ——

{1) Tile (2) word (3) folder (4) project (5) Other than those given as options
Each excelsheet has a reference name that appears on the __ at the bottom of the workboak.
(1) name Indicator {2) active tab {3) title tab

(4) sheet tab (5) Other than those given as oplions

A value or setting that a programme automatically selects without giving any specification is called —
(1) icon (2) user friendly (3) CPU {4) peripheral (5) default

Which combination of the following keys on the key board can select the entire document 7

{1) CTRL+A (2) ALT +F5 {3) SHIFT +A

(4) Cannot be done {5) Other than those given as options

The vertical space left between two lines of a text document Is called

(1) double-space (2) line spacing (3) single space

(4) vertical spacing (5) Other than those given as options
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Q. FORM NC : 333 (RIGHT ANSWERS)

e . o o o o B (S S S o o . e o . s . s .

2. No. Response Q. No. Response Q. No. Response 0. No. Response

o . . . R N W (S S o o o . o e

1 : 4 51 1 2 101 1 151
2+ 4 52 1 102 5 152 @
3 = 8 53 : 5 103 1 153
§ ¢ & 54 1 104 2 154
5 ¢ 5 55 : 3 105 5 155
6 : 3 56 : 5 106 3 156
T & 57 & 5 107 1 157
g ¢ 5 58 1 2 108 3 158 :
9 4 59 @ 1 109 4 159
10 : 3 60 : 3 110 2 160
11 ¢ 5 61 : 5 111 2 161
12 1 62 2 112 4 162
13 1 63 : 4 113 & 4 163
14 1 64 : 1 114 4 164
15 4 65 2 115 3 165
16 66 5 116 166
17 3 67 1 117 : 4 167 =
18 3 68 5 118 5 168
19 1 9 3 119 1 169
20 5 70 1 120 2 170
21 & 3 71 3 121 171
22 ¢ 1 72 @ 2 122 172
23 1 73 2 123 173 ¢
24 & & 74 4 124 174
25 4 75 2 125 : 175
26 4 76 4 126 176
27 1 77 s 2 127 s 177
28 2 78 : 4 128 178
29 3 79 : 3 129 : 179
30 : 4 B0 : 5 130 : 180
31 : 1 Bl : 4 131 181
32 3 B2 : 2 132 : 182
33 : 4 83 : 4 133 : 183
14 : 5 8¢ : 1 134 : 184
35 4 85 : S 135 185
36 1 B6 : 3 136 186 :
37 ¢ 4 87 : 3 137 187
38 5 B8 : 1 138 : 188
39 4 B9 : 5 139 189
40 2 2 90 : 3 140 190
41 3 91 : 5 141 i 151
4z 1 92 : 1 142 192
43 5 93 : 2 143 : 193
44 3 94 3 144 194
45 2 95 4 145 195
46 5 96 5 1456 196 @
7. ¢ 3 97 3 2 147 197
48 + 4 98 4 148 198
49 5 89 1 149 199
50 3 100 5 150 200

e . T - . i . o i e . e i N O T . o e - N T i e e e e o o i

Blank space, if any against Q. no. means the Question is dropped and marks
added to candidates score i,e. credit given to all the candidates for the
dropped question(s).



